Quiz 1 (take home)

Ch. 1

Mathematics HL. NI s ereenvnnancnernernncareanannnnne
Mr. Howes

DUE:

Monday, September 3™.

Please show all of your work on SEPARATE PAPER! Please be sure to include all
appropriate steps for you proof by mathematical induction. You can see examples in the
text, or see the examples I have posted on the website. It is OK to discuss problems
together, but the work done must be your own. Of course, if you have questions, you can
always ask me as well!

. P 8
A geometric sequence uy, ua, U3, ... has #; = 27 and a sum to infinity of ?

(a)  Find the common ratio of the geometric sequence.

2)

An arithmetic sequence vy, va, V3, ... is such that v, = up and v4 = uy.

N
(b) Find the greatest value of NV such that z v, >0.
n=1
(5)
(Total 7 marks)

Prove by mathematical induction that, forn € Z g

2 3 n—1
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(Total 8 marks)
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3. Consider the arithmetic sequence §, 26, 44, ...

(a)  Find an expression for the n™ tern.
(b)  Write down the sum of the first n terms using sigma notation.

(c) Calculate the sum of the first 15 terms.

4. A sum of $ 5000 is invested at a compound inferest rate of 6.3 % per annum.

(a)  Write down an expression for the value of the investment after » full years.

(b) What will be the value of the investment at the end of five years?

(c)  The value of the investment will exceed $10 000 after » full years.
(i)  Write an inequality to represent this information.

(i)  Calculate the minimum value of n.
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(Total 4 marks)

(1)
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4
(Total 6 marks)
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